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: This paper contains Seventy Five (75) multiple-choice/Assertion and

Reasoning/matching questions/carrying TWO (2) marks. Attempt All the

questions.

Dl Nausl dAAR (eu) egRselly wsell, WA-vlE A ASsL otllddi-l WAl
&, M WAl gl duidil 8. dds w4 (R) g@ B

What is the term used for ‘the sum
total of physical surroudnings and
everyday experiences that make an
individual world’ called ?

(A) Embedded world

(B) Lived Experiences

(C) Primary group

(D} Life world

What are the central ideas in
ethnomethodology ?

(A) Indexicality and reflexivity
(B) Structuralism and ideology
(C) Social action and social facts
(D) Relativity and reformity
Who

composition of self at the microlevel

was concerned with
of social action and interaction ?
(A) Alfred Schutz

(B) E. Goffman

(C) Berger and Luckmann

(D) J. Derrida
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Who has criticized the economic
determinism to be implicit in parts
of Marx’s original work ?

(A) J. Habermas
(B) E. Goffman
(C) Althusser
(D) A Giddens
According to whom neo-
functionalism is a tendency rather
than a developed theory ?

(A) Habermas

(B) Alexander

(C) Althusser

(D) Dahrendorf

For Habermas, the purpose of
communicative action is :

(A) To achieve a goal

(B) Shared understanding

{C) Mastery over world

(D) Purposeful work
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The institutional criteria as
precondition of public sphere are :
(1) Disregard of status

(2) Common concern

(3) Association

(4) Inclusivity

Indicate the correct answer
codes :

(A) (1), (2) and (3)

(B) (1), (3) and (4)

(C) (2), (3) and (4)

(D) (1), (2) and (4)

According to Althusser, a “word”

cannot be considered in isolation, it
exists only in theoretical or
ideological framework in which it is
used. The term used by him
8 :

(A) Consciousness

(B) Contradiction

(C) Discourse

(D) Problematic
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10.

11.

There is a basic difference between

tribe and caste. Mark out the

correct statement from among the

following :

(A) Tribe is a complete society, caste
is not '

(B) Tribe and caste are both
complete society

(C) Caste is complete society, tribe
is not

(D) Both tribe and caste are
incomplete societies

Which of the following groups are

officially notified minority religious

groups ?

(A) Muslims, Christians, Jains

(B) Jews, Christians, Muslims

(C) Parsis, Buddhists, Jains

(D) Parsis, Buddhists, Sikhs

Who put forward the theory of

‘cultural lag’ ?

(A) Max Weber

(B) Maclver and Page

(C) W. Ogburn

(D) Pareto
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13.

14.

Which of the following are tribes of
Andaman Islands ?

(A Onges and Jarawas

(B) Santals and Ho

(C) Gonds and Baigas

(D) Angami and Ao

Who is of the view that caste and

untouchability do not let Hindus act

'as a community ?

(A) David Hardiman
(B] Louis Dumont
(C) B.R. Ambedkar
(D) M.N. Srinivas
Whe has said that social
stratification in India is based on
‘Purity and pollution’ ?

(A) M.N. Srinivas

{B) A.R. Desai

(C) Louis Dumont

(D) Yogendra Singh
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Match items in List I with items in
List II and select the correct answer

from the codes given below :

List I List II
Homo Hierarchichus (1) 8.C. Dube
Indian Village (2) D.P. Mukerji
Diversities (3) M.N. Srinivas
Caste in modern 4) Louis
India and other Dument
Essays

Codes :

(@) (&) () (d)
A (2) (1) (4)
(B) (2} (3) (4) (1)
€y () (1) (2) 3
O @ (2) (3) (4)

According to G.S. Ghurye which one
of the following features is a
characteristic of the society based on
the caste system ?

(A)
(B)
(C)

Segmental division of society
Civic and religious abilities
Equality in feeding and social
intercourse

(D) Self-choice in occupation and

marriage
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17.

18.

19.

Choose correct option.

Global population conference in

Cairo 1994 agreed that the key to

controlling world population growth

was in :

(A) Spread of education

(B) Family welfare programmes

(C) Industrial urban growth

(D) Improving the status of
woren

What is the key demographic factor

in the growth of cities ?

(A) Migration

(B) Industrialization

(C) Expansion of geographical
boundaries

(D) High birth rate

Who has classified slums into the

categories of ‘Slums of hope’ and

‘Slums of despair’ ?

(A) E.H. Sutherland

(B) Gideon Sjoberg

(C) Churles Stock

(D) Oscar Lewis
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20. What is meant by displacement ?
(A) Migration only by social
causes
(B) Migration only by economic
causes
(C) Migration to other place by
Personal choice
(D) Forced migration from place of
origin
21. Which one of the following is a
known demographer ?
(A) Narain Seth
(B) P.N. Mukherjee
(C) E.A. Rumuswami
(D) Vatsla Narain
22. According to which scholar,
knowledge and language have been
powerful in the control of human
body ?
(A) Foucault
(B) Schutz
(C} Goffman
(D) Giddens
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23.

24.

25.

The process to uncover differences
in a text is called by Derrida :
(A) Logocentricism

(B) Deconstruction

(C) Post-structuralism
(D) Analysis

Who said structure is both
constraining and enabling ?

(A) J. Derrida

(B) A. Giddens

(C) W. Moore

(D) A. Schultz

Which one of the following tribal
community has G.S. Ghurye
Studied ?

(A) Chaudhary

(B) KoliBhil

(C) Dhodia

(D} Kukana

Sociology-IIT
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Arrange the names of the following
sociologists according to their

studies by choosing the correct

codes :
List I List II
M.N. Shrinivas (1) Rural profile

Mekim Murriot {2) Indian village

D.N. Majmudar  (3) Indias villages
S.C. Dube @ Village India
Codes :

(@) (&) (c) (d)
Ay @ (4) (1) 2)
B) @ (3) (2) (1)
) (@ (4) (2) (3)
O @ (1) (3) (4)
Daniel Thorner’s contribution to the
understandi‘ng of rural social
structure has been mainly the
analysis of :
(A) Traditional Power Structure
(B) Jajmani relations

(C) Religious beliefs and practices

(D) Agrarian relations

Sociology-IIT
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28. According to Robert Redfield a

Peasant is one who :
(A) Cultivate as a part of one’s way
. of life
(B) Cultivates on the land of
landlord
(C) Workeg as an agricultural
labourer

(D) Cultivates for economic gain

29. According to the census authorities

of India, one of the essential
requirement for a rural community
is a density of population below
per sq. km :

(A) 250 persons

(B) 300 persons

(C) 400 persons

(D) 500 persons

Sociology-IIT
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30. Given below are two statements, one

labelled as assertion (A) and the

other labelled as Reason (R) :

Assertion (A) : Metropolitan cities

are dominated by large size

slums,

Reason (R) : There has been large

scale migration of rural population

to urban centres with the growth of
industries and job opportunities.

In the context of the above

statement, which one of the

following is correct ?

Codes :

(A) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A)

(B) Both (A) and (R) are true, and
(R) is the correct explanation
of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

Sociology—ITT
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31.

32.

In which one of the following

spheres according to the study of

I.P. Desai the practice of

untouchability continue to be

practised inspite of legal removal of

discrimination ?

(A) Professional discrimination

(B) Caste based admission in
education institution

(C) Private sphere

(D) Religious practices

According to Max Weber increasing

rationalization of society leads

to :

(A) More Freedom from rules

(B) Being prisones of rational
institution

(C) Empowerment of individual

charismatic

(D) Increase in

persons

Sociology—IIT
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33. According to Marx, alienation is a

3.

35.

feature of which form of society ?
(A) Capitalism

(B) Feudalism

(C) Socialism

(D) Communism

Rise of new technologies in the
sphere of information and
communication leading to greater
globalization is a future of :

(A) Agrarian society

(B) Industrial society

(C) Post industrial society

(D} Rural society
Post-industrial  society 18
characterized by :

(A) Ascreptive value

(B) Universalistic value

(C) Diffuse value

(D) Particularistic value

Sociology-IIT
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36. Social transformation towards 36. % S[R9d AMLY ds- 3ULwdR
a desired form of society 2ned

means
(A) AHUxs Qs

(A) Social development
(B) uls Qs

(B) Economic development

© sila
(C) Revolution

(D) Cultural development (D) izglds [As
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A) 4R
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(B) Charismatic
© dlds—swelby
(C} Rational-legal

D7 Trlitional’Charsmate (D) 4IUALA-AUSU S
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38. Given below are two statements, one

labelled as assertion (A) and the

other labelled as Reason (R) :

Assertion (A) : High growth rate

of population is an indicator of low

levels of development in the
society.

Reason (R) : High birth rate is

related to illiteracy and poverty in

the society.

In the context of the above

statements, which one of the

following is correct ?

Codes :

(A) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A)

(B) Both (A) and (R) are true, and
(R) is the correct explanation
of (A)

{C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

Sociology—IT1
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39.

40.

What is the sex-ratio in India
according to census of 2011 ?

(A) 918

(B) 924

(C) 940

(D) 954

Which of the following factors were
identified by Malthus as “positive
checks” on the growth of
population ?

(1) Misery

(2) Epidemics

(3) Chastity

(4) Violence

Give correct answer from the
following :

(A) (1), (2) and (3)

(B) (3), (1) and 4)

(C) (4), (2) and (3)

Dy (1), (2) and (4)
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40.

e1lRcl 2ld wHwL seg o 7

(A) €i¢

(B) ¥

(C) «¥o

D) &Yy

Adamigl sul uRomid weyd
Rl qle-l ‘esticis—[Fael’

ddls direul edi ?

D =lhy

“(2)  SIAL

3 Rua

4 (S

AAxiefl WAl wanol 2L
(A) (1), (2) ¥ (3)

B) (3), (1) @1 4)

(C) (4), (2) 211 (3)

D) (1), (2) ¥ (4)
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41,

43.

Which was the first sociclogical
bulletin published in India ?

(A) Journal of sociology

(B} Sociological Bulletin

(C) Indian Social Science Journal
(D) The Indian Journal of Sociology
The aim of national population
policy is to impress upon the people,
the need which of the following
families for the well being of their
children : \

(A) Small, planned

(B) Planned, large

(C) Joint, Nuclear

(D) Educate, extended

What is incorrect about SEWA ?
(A} It has Unionized women

workers in the unorganized

sector

(B) It combines three movements
labour, cooperative and
development

(C) It has organized many women
cooperatives

(D) It is restricted to Ahmedabad

only
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44. What 1s the basis of stratification

45.

in contemporary society among the
following ?

(A) Sex

(B) Gender

(C) Age

(D) Community

Given below are two statements, one
is labelled as Assertion (A) and
other as Reason (R) :

Assertion (A) : It is not sex but
gender has been accepted as a form
of social stratification.

(R)

biologically different from men.

Reason Women are

Select the correct answer from the.

codes given below :

Codes :

(A) (A) is false but (R) is true

(B) (A) is true, but (R) is false

(C) Both {(A) and (R) are true,
but (R) is not the correct
explanation of (A).

(D) Both (A) and (R) are true and

(R) is the correct explanation

of (A)
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wie 531 wAl Gur dvil :
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(B) (A) W B, w2 (R) Wi &
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46. Term gender is a coined on the basis 46, d-alls (Fs2) aoel AL sl 2ua1R

9 7
of differences : SUAS & 7

A) %as

(A) Biological

(B) Social (B) WS

(C) Biological and social (C) %s a4 wnlxs

(D) Psychological D) w-ldsuls

47. The feminist perspective which  47. d-ofls Qe »i3 ¥ -wdlael yIu4a

emphasizes that patriarchy is the (Udaue Gu cur 33 & d :

basis of gender inequality is : (A) Gay -ulale

(A) Radical feminism
(B) Gelr -dlale
(B) Liberal feminism

(C) Socialist feminism (C) el -ulae

(D) Conservative feminism M) 3lagl wlae

48, Provisions for divorce among 48 sy ad+y [é,& 3o B2’ wirad

Hindus are provided under Hindu [R-goliHi 921 9L W2+l WaHL
Marriage Act of which year ? 8 7

(A) 1955 ‘ (A) 1955

(B) 1956 (B) 1956

(C) 1961 (C) 1961

(D) 1973 (D) 1973
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49. Given below are two statements, one

50.

of which is an assertion and another

reason.

Assertion (A) : Increase in level

of education of women, results in

declining fertility.

Reason (R) : As level of formal

education increases, women feel

more empowered to take decisions
regarding their fertility.

Codes :

(A) Both (A) and (R) are true, and

. (R) is not the correct
explanation of (A)

(B) Both (A) and (R) are true,
but (R) is not the correct
explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

Lack of resources by a group in

comparison to another graup is

called :

(A) Absolute poverty

(B} Relative poverty

(C) Deprivation

(D) Discrimination
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B (A) 4 wd wlesw
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g ogu-lt AvmelHi Bt g Wl

AWerllg v s 8 7

(A) dyel alell

(B) g 3ol

(C) dRddi

(D) leeld
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51.

52.

53.

Which committee studied

educational backwardness of
religious minorities ?

(A) Sachar Committee

(B) Justice Verma Commission
(C) Alagh Committee

(D) Sengupta Committee\

Which of the following tribal groups
is of African origin and has Negroid
features ?

(A) Kukis of Manipur

(B) Gonds of Bastar

(C) Bhils of Rajasthan

(D) Siddis of Gujarat

Which of the following committees
considered multi dimensional
aspects to estimate poverty ?

(A) Alagh Committee

(B) Lakdawala Committee

(C) Sengupta Committee

(D) Suresh Tendulkar Committee
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54. The author of ‘Delniquent Boys'
is :

(A) F. Whyte

(B) K.S. Shukla

(C) M. Clinard

(D) AXK. Cohen

55. It often refers to the mere use of
illegal drug :

(A) Drug-addiction

(B) Drug-dependence

(C) Drug-addiction and dependence

(D) Drug abuse

56. Given below are two statements, one
is labelled as Assertion (A) and the
other labelled as Reason (R) :

Assertion (A) : In a plural society,

minority groups often develop

mistrust of majority.

Reason (R) : Minority groups are

frequent targets of prejudices and

discriminations.

Give correct answer from the

following codes :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A)

(C) (A) i1s true, but (R) is false

(D) (A) is false, but (R) is true
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57.

b58.

59.

Who is the author of ‘contemporary
social proBlems’ ?

(A) Robert Merton

(B) W.F. Ogburn

(C) W.F. Whyte and L. Whyte
(D) Elliot and Merill

The recognized violation of cultural
norms is defined as :

(A) Deviance

(B) Anti-social fact

(C) Crime

(D) Immorality

Indicate the period during which
WREGA was launched ?

(A) 2002-03

(B) 2001-02

(C) 2006-07

(1) 2008-09
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60.

61.

62.

The main aspirations behind new

science and technology policy are :

{A) Faster, sustainable and
inclusive growth

(B) Creation of infrastructure
facilities for rural development

(C) Creation of job ?pportunities
with economic growth

(D) Promotion of research activities
in sctence and technology

In the new science and technology

policy T stands for :

(A) Industry

(B) Infra-structure

(C) Information

(D} Innovation

Which one of the following

perspectives claim that every

culture has its own truth ?

(A) Modernist

{(B) Post-modernist

(C) Neo-functionalist

{D) Neo-evolutionary
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63.

64.

65.

Mark the correct option :

With the acceleration of
globalization :
{A) Exploitation of the poor

countries 18 accelerated

(B) Cultural dominance of
developing societies is
accelerating

(C) Poor countries are becoming
prosperous

(D) Small and big countries are
increasingly linked

Which one of the following books,

is based on the analysis of the

process of Nation-building since

independence ?

(A) Modernization of Indian
tradition

(B) Diversities

(C} India’s path of development

(D) Modernization and develop-
ment

Who has discussed the process of
secularization in India ?

(A) D.N. Majumdar

(B) AM. Shah

{(C) Yogesh Atal

(D) M.N. Srinivas
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66.

67.

68.

Who said that in a latent form,
sanskritization 1s an orthogenetic
response of the Hindu-culture to the
forces of modernization ?

(A) LP. Desax

(B) Yogendra Singh

(C) AM. Shah

(D) Shyamacharan Dube

In the process of nation building,
the of

discrimination has been adopted

process protective
purely on the grounds of :

(A)
(B)

Humanitarian considerations
Practice of untouchability and
exploitation

(C) Backwardness of scheduled
castes and the scheduled
tribes

(D)
Which one of the following options
match with Y. Singh’s views on

Illiteracy and poverty

tradition and modernity in India

today ?

(A) Breakdown in core of tradition

{B) Revitalization
tradition

(C) Continuity and change of

in core of

tradition
(D) Increasing predominance of
modernity
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. Who has sftudied ‘The great
Tradition of Hinduism’ in the city
of Madras’ ?

(A) Robert Redfield

(B} F.G. Bailey

(C) Mckim Marriott

(D) Milton Singer

. Bribe is an example of :

(A) Conflict
(B) Ignorance
(C) Corruption
(D) Cheating

. Which of the following anti-social

acts generally do not involve

violence ?

(A) White Collar Crime

(B) Rape

(C) Homicide

(D) Suicide

Indicate the correct answer :

Statement (A) : The people who

tend to be defined as deviant are

those who share the traits of

powerlessness.

Statement (R) : The powerful

people possess the resources to resist

deviant labels.

Codes :

(A) (A) and (R) are both correct

(B) (A) and (R) are both wrong

(C) (A) is correct and (R) is
wrong

(D) (A) is wrong and (R) is

correct
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73. Privatization of education is a
consequence of which one of the
following ?

(A) Liberalization

(B) Globalization

(C) Development of science and
technology

(D) Increase in production

74, Who said that the traditional Hindu

culture prevented the rise of

modern industrial capitalism ?

(A) Karl Marx

(B} Karl Popper

(C) Emile Durkheim

(D) Max Weber

75. Which one of the following gives a

clan its name and identity ?

(A) Village

(B) Religion

(C) Totem

(D) Language

73.

74.

75.

Sociology-1TT

31

AA wulemidfl siq wReus Raesd

wisflse B ?

(A) Gelsw

(B) dBas:we

(©) Qs A wAiBisaisil Qs

(D) quld qaurt

sid 5@ 3 wIuod Reg Ayl
wys 21eiBis yelae-r Geuq
nestay 7

(A) s1dMsy

gy T—

B) std Wi
(€) Sudd guldn

(D) AsA Qo2

25 Ao —AYen e, A4l-L szl A

AH HH @ 7
(A) U™
g3

B ns

(B)
(C)

(D) ®i™L

[P.T.0.]




ROUGH WOREK

Sociology-1II © 82 ‘




